[-80><60>=<4.0t

L-70><20><4.0t

L-50><50><4.0t

L-125>60><5.0t L=60

L-125>=<60><5.0t =60

[1-70><60

[1-70><60

[1-70=<60 M10
[1-70><60 Z ( 10 24.5

[1-70>=<60

[1-70><60

M10x30

2012.12.2C




N N N
o
o
8
= S
MN m_
o =
—
= = =
n =
>
= =
wn
=
=
4 4 4
b
o
I
nm < S o
X ' ©
S g ¥ i
o X
X @ 5
o i
2 X 3 3
- O o
x —
LO)|
N
)
—

2012.12.2C



L-70><20>=<4.0t

10><30

M10

10 24.5

10 24.5

6 8><20

6 5.2

\
M8
( M6)x20 M8 M8
Wosw N ( ME)X20 ( M6)x20 ( M6)x20
WoSW N WoSw N Wosw N
-80><60><4.0t
- NG /

2012.12.2C




